

2021 A Campus Accountability Report

As of: 11/1/2021

Empire College - Santa Rosa, CA (00010602)

This is the data reported to ACICS by the institution in its most recent Campus Accountability Report

Campus Information

Beginning Population: 197 Ending Population: 54

Non-Program Enrollment: 3 *This number is not included in the ending population

Campus Level Standards

Retention: 92% Placement: 56%

Program Level Standards

Program Name	Retention	Placement	Licensure
Accelerated Business Professional (Certificate/Diploma)	100%	100%	N/A
Accounting With Certification Emphasis (Certificate/Diploma)	<mark>10</mark> 0%	75%	N/A
Accounting With Entrepreneurship Emphasis (Certificate/Diploma)	100%	50%	N/A
Business Management Professional (Certificate/Diploma)	0%	N/A	N/A
Business Office Professional (Certificate/Diploma)	100%	0%	N/A
Clinical Medical Assistant (Certificate/Diploma)	100%	67%	N/A
I.T. Support Specialist (Certificate/Diploma)	100%	33%	N/A
Legal Office Assistant (Certificate/Diploma)	100%	33%	N/A
Master Of Legal Studies (Master's Degree)	83%	100%	N/A
Medical Administrative Assistant (Certificate/Diploma)	100%	17%	N/A
Medical Assistant Essentials (Certificate/Diploma)	100%	54%	N/A
Medical Billing & Coding Technician (Certificate/Diploma)	100%	25%	N/A
Paralegal Studies (Certificate/Diploma)	100%	100%	N/A
Phlebotomy Technician (Certificate/Diploma)	100%	36%	N/A
Specialized Associate Degree - Administrative Medical Professional (Occupational Associate's Degree)	100%	75%	N/A
Specialized Associate Degree - Business (Occupational Associate's Degree)	100%	67%	N/A
Specialized Associate Degree - Clinical Medical Professional (Occupational Associate's Degree)	98%	86%	N/A
Specialized Associate Degree - Info Tech (Linux Specialist, Microsoft Specialist, Cybersecurity Specialist) (Occupational Associate's Degree)	93%	22%	N/A
Specialized Associate Degree – Paralegal (Occupational Associate's Degree)	86%	50%	N/A
Specialized Associate's Degree - Accounting (Occupational Associate's Degree)	80%	43%	N/A

Cohort Level Standards						
Program Name	Cohort	Students	Graduation	Retention	Placement	
Accelerated Business Professional (Certificate/Diploma)	06/20	1	0%	100%	100%	
Accounting With Certification Emphasis (Certificate/Diploma)	03/20	1	100%	100%	100%	
	06/20	1	0%	100%	100%	
	07/20	2	100%	100%	50%	
Accounting With Entrepreneurship Emphasis (Certificate/Diploma)	03/20		00/	4.000/	4000/	
	03/20	1	0%	100%	100%	
	07/20	1	0%	100%	N/A	
	04/21	1	0%	100%	0%	
Business Management Professional (Certificate/Diploma)	10/20	1	0%	0%	N/A	
Business Office Professional (Certificate/Diploma)	06/20	2	0%	100%	0%	
	03/20	1	0%	100%	100%	
	07/20	2	50%	100%	50%	
Clinical Medical Assistant (Certificate/Diploma)	09/20	2	50%	100%	50%	
	10/20	2	100%	100%	50%	
	12/20	4	50%	100%	100%	
	06/21	1	100%	100%	100%	
I.T. Support Specialist (Certificate/Diploma)	09/20	5	40%	100%	50%	
	10/20	1	100%	100%	0%	
Legal Office Assistant (Certificate/Diploma)	07/20	1	0%	100%	100%	
	09/20	1	100%	100%	0%	
	03/21	1	0%	100%	0%	
Master Of Legal Studies (Master's Degree)	08/20	3	100%	100%	100%	
	12/20	3	100%	100%	100%	
	04/21	5	100%	100%	100%	
	08/21	7	0%	100%	N/A	
	12/21	4	0%	75%	N/A	
	04/22	19	N/A	58%	N/A	

Cohort Level Standards					
Program Name	Cohort	Students	Graduation	Retention	Placement
Master Of Legal Studies (Master's Degree)	08/22	7	N/A	57%	N/A
	12/22	5	N/A	80%	N/A
	04/23	15	N/A	100%	N/A
	08/23	10	N/A	100%	N/A
7	10/19	1	0%	100%	N/A
	06/20		100%	100%	0%
Medical Administrative Assistant (Certificate/Diploma)		1			
	07/20	1	0%	100%	0%
	09/20	2	50%	100%	50%
	10/20	2	100%	100%	0%
	03/20	1	0%	100%	0%
	04/20	1	100%	100%	100%
	06/20	2	100%	100%	100%
	07/20	1	0%	100%	0%
Medical Assistant Essentials (Certificate/Diploma)	09/20	3	67%	100%	50%
	10/20	2	0%	100%	50%
	12/20	2	50%	100%	100%
	01/21	2	0%	100%	0%
	03/21	1	100%	100%	100%
	03/20	1	100%	100%	00/
		1	100%	100%	0%
Medical Billing & Coding Technician (Certificate/Diploma)	06/20	1			0%
//////	09/20	2	50%	100%	100%
	10/20	1	0%	100%	0%
Paralegal Studies (Certificate/Diploma)	06/20	1	100%	100%	100%
	09/20	1	0%	100%	N/A
	01/21	1	100%	100%	100%
	03/21	1	100%	100%	N/A
	04/20	1	100%	100%	00/
Phlebotomy Technician (Certificate/Diploma)	04/20	1	-	100%	0%
	07/20	5	100%	100%	50%

Cohort Level Standards						
Program Name	Cohort	Students	Graduation	Retention	Placement	
Phlebotomy Technician (Certificate/Diploma)	10/20	9	100%	100%	33%	
Specialized Associate Degree - Administrative Medical Professional (Occupational Associate's Degree)	05/20	1	0%	100%	0%	
	12/20	1	100%	100%	100%	
	01/21	1	100%	100%	100%	
	07/21	1	0%	100%	100%	
	10/19	1	0%	100%	100%	
	12/19	1	0%	100%	N/A	
	03/20	3	33%	100%	67%	
	06/20	1	100%	100%	N/A	
Specialized Associate Degree - Business (Occupational Associate's	07/20	1	100%	100%	100%	
Degree)	10/20	1	0%	100%	100%	
	01/21	2	50%	100%	100%	
	03/21	1	0%	100%	0%	
	04/21	1	100%	100%	0%	
	07/21	2	50%	100%	50%	
	01/20	1	100%	100%	100%	
	03/20	2	100%	100%	100%	
	05/20	3	67%	100%	100%	
	06/20	2	100%	100%	100%	
Specialized Associate Degree - Clinical Medical Professional (Occupational Associate's Degree)	07/20	6	100%	100%	100%	
	09/20	3	100%	100%	100%	
	10/20	2	100%	100%	100%	
	12/20	2	100%	100%	50%	
	03/21	6	83%	100%	67%	
	04/21	6	83%	100%	75%	
	06/21	2	100%	100%	100%	
	07/21	6	83%	83%	80%	
Specialized Associate Degree - Info Tech (Linux Specialist, Microsoft Specialist, Cybersecurity Specialist) (Occupational Associate's Degree)	05/20	2	50%	100%	0%	

Cohort Level Standards					
Program Name	Cohort	Students	Graduation	Retention	Placement
Specialized Associate Degree - Info Tech (Linux Specialist, Microsoft Specialist, Cybersecurity Specialist) (Occupational Associate's Degree)	06/20	2	50%	100%	0%
	07/20	2	100%	100%	0%
	09/20	1	100%	100%	100%
	10/20	1	100%	100%	100%
	01/21	3	67%	100%	33%
	03/21	3	67%	100%	0%
	04/21	2	0%	50%	N/A
	06/21	2	50%	50%	0%
	07/21	9	78%	100%	22%
	06/20	1	100%	100%	100%
	12/20	1	0%	0%	N/A
Specialized Associate Degree – Paralegal (Occupational Associate's Degree)	01/21	2	50%	100%	0%
	03/21	2	50%	100%	0%
	04/21	1	100%	100%	100%
Specialized Associate's Degree - Accounting (Occupational Associate's Degree)	03/20	1	0%	100%	100%
	05/20	1	100%	100%	100%
	01/21	2	50%	100%	50%
	04/21	3	33%	67%	0%
	07/21	3	33%	67%	0%